1 SR ) GO P R O O T

TARLIYEITIO WNVH A BRAT B4 MAAE

Internal Assessment Test ITT — May 2024

Eb: Mathematical Foundation for Computer Applications Sub Code: | 22MCA11 I Branch: l MCA
Date: 20/05/2024 I Duration: ]90 minutes i Max Marks: [ 50 | Sem/ Sec: 1 A&B OBE
Note: Answer FIVE FULL Questions, choosing ONE full question from each part. MARKS CO [RBT
PART I
1 Find the value of k such that the following distribution represents a finite probability distribution. (100 |CO2| L3
Hence find its mean, variance and standard deviation. |
X -3 -2 -1 0 1. 2 2 3
P(x) K 2k 3k 4K 3k 2k K
OR o, T
» o [10] coal 13
2 The probability that a pen manufactured by a factory be defective is / 10- If 12 such pens are )
manufactured, what is the probability that (i) exactly two are defective  (ii) at least two are !
defective  (iii) none of them are defective.
PART 11
3 Given that 2% of the fuses manufactured by a firm are defective. Find by using Poisson distribution,
the probability that a box containing 200 fuses has (i) no defective fuses (ii) 3 or more [10] co2| L3
defective fuses  (iii) at least one defective fuse.
OR
d : ; kex? -3<x<3 [10] |CO2| L3
d funct = .
4 A random variable x has the density functionf (x) { 0 PP gl Evaluate k and find
(i) P(x <2) (ii) Mean
¥
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PART III
In a certain town, the duration of a shower is exponentially distributed with mean 5 minutes. What
is the probability that the shower will last for (i) 10 minutes or more (ii) less than 10 minutes
(iii) between 10 and 12 minutes?
OR

The marks of 1000 students in an exam follows a normal distribution with mean 70 and standard
deviation 5. Find the number of students whose marks will be (i) less than 65 (i) more than 75
(iii) 65 to 75. Given that (1) = 0.3413 where ¢ carries the usual meaning.

PART 1V
For what value of k, the following distribution represents a finite probability distribution.
X 0 1 2 3 4 5 6
P(x) k 3k 5k 7k 9k 11k 13k
Find P(x = 5) and P(3 < x < 6).
. OR
Define the following with an example for each (i) complete graph (ii) regular graph
(iii) planar graph.
PARTV

Determine the order IV I of the graph G = (V ,E )in the following cases: (i)G is a cubic graph of 9

edges. (i) G is regular with 15 edges.  (iii) G has 10 edges with 2 vertices of degree 4 and all
other vertices of degree 3.0R

Define Euler Circuit and Write a note on Konigsberg Bridge Problem.
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